/

o [iz1] S =1/500

EIRER L=51.0m

JOy 7 FET A=185. Om2

#H— FL—JL L=56.0m

0°L¢+0 'ON

T = @t =

HHEE L=51.0m
aYvoyy—rJAvYRETL A=185.0m?2

nOlkET 1 H N= 1.0&
nalkT 2 ® N= 1.0&
HfT T A=12.0m?
A—FL—L L =56.0m
TRAI7ILFGE A =90.0m?
FRAHh—T L =56.0m

EH29FE H29E% H£697E&

THER | ommiHEAESLES 1 2 SR ERSEEATE
RE 4 T oEHE

£A8A8

fa RN X7 XE&S 1

EHAT4 B #EHR2F




EEEE (1)

S =1/100

DL=220. 00

DL=225. 00

NO.0+13.0
GH=225. 39
F= 6. 00
2.48 7
2.28
;K As
2| o /I
o~ @ 1l
|
a”:/
™
T <«
= =
B N J
EETAYE
NO. O
GH=227.84
FH=
6. 40
1.00
0. 80
i B
< ® = -
[a] /7
| &/
~ S
g \ /
\ /

T=s EH29FE H29E% H£697E&
ZOHETABEMETILEM 1 2 S ERKEEIRTE
RES BHEER (1)
F£H/H
fi= R il HEm&s 2
ETEAT4A BEE BE2F
Gh)

14 m? 3.38 3.38

RiE m? 2.04 5.46

BE m? 1.42 4.22

B () m? 0.02 0.02

Bi (K m? 0.33 0.33

EARR m? 0.56 0.56

| m? 3.73

RIE m? 5.30

BE m? 3.7

B () m? -

Bt (BK) m?® -

EARR m? 0.42




T=s FR29FE H29EK ¥6975
ZOBHEEAREELE 1 2 SREBKEERTE
&S BHEEE (2)
F£H/A
EEERE (2) s=1100 ' R T il °
+ _ - - -
NO. 0+33.5 = Y BERED EE 2R
GH=223. 17
FH=
6. 00
1.00 7
~| 2
ﬁ" CY)
== 58 m? 1.3
K1 m? 2.65
«—
~ R m? 2.03
= +—
] / Bt (B4h) m? 0.02
- x Bt (85K m* | 0.1
HETAYE BARE m? | 0.9
GH=223. 42
FH=
7.60
2. 80 i
m? 0.75
- m? 3.32
o m? 2.46
= m? 0.89
m? 2.31
m? 0.78
DL=225. 00
- ERTAYE




i E X

(3) s=1/100

DL=220. 00

DL=225. 00

NO. 0+51. 0 (EP)

H=2. 80

1.08

1.72

H=3. 49

GH=222.77

Fh=

5.80

NO. 0+40. 5

2.51

0.98

in

GH=222. 88

FH=

6. 00

EEIAYE

— TRE29FE H29EK $£6978
ZOHETABEMETILEM 1 2 S ERKEEIRTE
&4 mEEE (3)
F£H/H
fi= R il MmES 4
ETEAT4A BEE BE2F
14 m? 2.37
RiE m? 4.27
BE m? 2.56
B () m? -
Bt (BK) m? -
EARR m? 0.25
14 m? 1.08
RiE m? 2.67
BE m? 2.43
B () m? -
Bi (K m? 0.01
EARR m? 0.52




T=s FR29FE H29EK %6975
ZOMMEFHEFRELRS 1 2 SHREHNEEETS
“ E M
RE Joy o’
X -
i 5 s =1/100 =0
e R Bl &S 5
y . =+ =
oy RIERHRK
ETHFTHA BEE EH2:R
RHL L=50.4m 030 28  Spousmr
14. 00 12.70 O (3.61+3.10) +2x12.70=42. 61
@ (4.33+4.17) +2x14.00=59.50
o
.50 6.5 PMOLET1E | |G > ® @ 17+4.10) +2x6.50=26. 88
S S T @ (4.1043.34) +2x7.00=26.04
o ] "’ ® (3.34+2.57) +2x10.20=30.14
* 927 54 ®) 5 A =42. 61459. 50+ 26. 88+26. 04+30. 14=185. 17=185. 00m?
o / Qs | 22
@A) = w3 //%Y/'IL;)'/ =5 (3.35+3. 10+4. 2444, 1443.34) x0.50=9. 089, 00m®
FHi=225.78 e IR _
/ / 2|2 -— e - Wt I
Sl |me|es — BT T
o R K . A QB2H050) $2x4 64=7.70
=+ > =1. m -
< 2 . TEp ) B (2.30+0.50) +2x3.60=5.04
' =P =1 2 0.56 % 0. 50% 2. 0=0. 56
= n___— ™=~
L m — 5 A=7.70+5.04—0. 56=12. 18=12. 00m?
L
mpm 4m 4.5
) 0.30
2.30 0,30 KT L =50.4m
10. 20 1.00 6.50 14. 00
=) =) =) 3. 00 =)
o Lo Lo o
— = @ r~ @
£ ¥ 7 ¥
NAET 28 o]
U/
=
_ =t | P24 24
Lo
= FH=223. 53 o=
w Lo 1= = |
P T 0 FH=222.16 Fi=222. 85 - 3|2 2 5 © Iz
B e 35 (5) EZ > @ i I " d/ocf -
iy z ‘lT; o o - - S IIH:I'I:‘E - i”/// 2
Tly | =la | S & & T ” 2
Buft T ? 2= - -
] — LEVELHE T S LEVELHET S —
A=4.76m )
&.5) ERIT L=504m
—0.30




JOyOBIMER  s-1/50

A—FL—JILERETOYY

NOET 1R

$=1/50 NNOET 28 /50

o

.3

]

o

EAavyy—+H
(18-8-25BB) t=150

IR LB AE# (300 300 x 30)

arvyy—+,
BB
B i #

KiRE/A T (WPHS0)  18ER/T/3m?

RETER

$=1/20

0.48

0.02

s

H—FKL—

Gr—C— 28 X di I s=1/20

H—FL—JL &K

/ 0.65
\

[ | I
' BELEIL 2
— 1 1.3
::’ T ‘ :}3 0.20
> NG EE
/ 0.52 |
/|, 0. 80 |
/ , /

0.30
)
o~
~
N
P I
. —
™
I
—
L —\

avoy—+
B OB

V= (0.74+1.01) +2x2.72x0.30=0.71=0.70m*
A= (0.744+1.01) +2x2.72x243.04%0.30=5.67=6.00m?

B & A= 3.04x0.50=1.52=2.00m?
V= (0. 74+1.10) +2x3.65%0.30=1.01=1.00m®
A= (0.744+1.10) ~2x3. 65%2+4 08%0.30=7.94:=8, 00m?2 .
A= 4.08x0.50=2.04=2. 00m? FTAH—T  s=1/10
0.13
o R
= % S
S &
HE BT s/
0.23
0.10
~ TEx EH29FE H29E% H£697E&
32 ZOMHEAEFRELRS 1 2 SHEBEERTE
— | = R&E% T &
© 0.10] | 0.55 | o 10 FHH
0.75 _
e R X7 HmES 6
EFERT4A EEREN B 2F




B = #E 1B T

F [iz1] S =1/500 F A7) EHiE

Z £ B m $=1/20

SHEERRYIET L=54.0m

l SHUEMREUEL  A=82. 0m? L
] FRT 7 RGEE A=00. 0m? |
] 72— TWEEIE L=56.0m ! .
] F— K L—L%E (Gr-C-4E) L =56.0m ! jasviams e
F— kLl 6r-c-46) — K L—JL (Gr-c-4E)
L=4.0m L=4. 0m
/ (L—LEFIR) (L—ILEFIA)

3 H—KL—J (Gr-C-2B) L=52.0m -
I H—FL—LEEIOYS L=520m |

/

EE $=1/20

— REBEERET) 2
- i— =t
wm ol S

=)

AR (B4 1A P ERC-40)

0°L¢+0 'ON

EH29FE H29E% H£697E&

/A TEE | o ptUHEARTLES | 2 SEEBNERATE
@ 4 RE42 W% &8
s} . X i
oL > =R\
fa RN X7 HEES 7

EHAT4 B #EHR2F




HEEREGEHMERX

GERUEE S

S =1/200
51.00
0.50 13.00 14.00 6. 50 7.00 10.50 0. 50
(o] (o] (=] (=] (o] (=]
2| |o < < - = <=
Slle . =2 g el = =| |z
T = A—FLU— LB + + + * H—FL—JLERE *I1I1*
~, o | ®) \>T“m
| T ~ - @ < i
S — ) - (2) o (3) _@ - - |-
— o o _
— — /
HHEREUEL 7RH—IHE
HE M= @ (0.82+2.12) +2x13.00=19. 11 (0.13+0.23) =2 x56.0=10.08=10. 00m2
@ (2.1242.51) +2x14.00=32. 41
st b ) i 82+0. 50+13. 00+14. 00+6. 50+7. 00+10. 50+0. 50+1. 08=53. 90=54. 00m ® (2.5140.99) ~2x6.50=11.38 L4
@ (0.99+1.03) +2x7.00=7.07 BEEGSHZERE  82.00x0. 10=8. 20m?
® (1.03+1.08) +2x10.50=11.08 FZH—T 10.08x0.13=1.31m>
A—FL—JLEREE  (0.82+1.08) x0.50=0.95 Y V=8 20+1.31=9.51=10. 00m?3
2A=19.114+32.41+11.3847.07+11.084+0. 95=82. 00m?
B X B B s=120
51.00
0.50 13.00 14.00 6. 50 7.00 10.50 0.50
(o] (o] (=] (=] (o] (=
2l o < < - = el r
Slle 2 by ) g = =
T = #H—FL—ILEREE + * * * H—FL—LEREE T 11T
il [ @ 9 B 18
- @ < (2) g : ——- Txe TH2O9HE H20EKX %6975
= ‘“/ ZOMHETFEREE LR 1 2 SRERKEERTS
X CES BV AL LI
FTRI7I N ® o T
@ (1.00+2.48) +2x13.00=22.62 @ (1.00+2.48) +2x13.00=22.62 £AH
@ (2.48+2.80) +2x14.00=36.96 @ (2.48+2.80) +2x14.00=36.96 _
@ (2.8041.00) +2x6.50=12.35 @ (2.8041.00) ~2x6.50=12.35 LS e B &S 8

@ 1.00x7.00=7.00
® 1.00x10.50=10.50
H— FL—ILERER

(1.004+1.00) x0.50=1.00

L A=22.62+36.96+12.35+7.00+10.50+1. 00=90. 43=90. 00m?

@ 1.00x7.00=7.00
® 1.00x10.50=10.50
H— FL—ILEREER

(1.00+1.00) x0.50=1.00

S A=22.62+36.96+12.35+7.00+10. 50+1. 00=90. 4390, 00m? FFEFTH

EERER B 23R




